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solid windowtext 1.0pt; padding: Ocm 5.4pt Ocm 5.4pt; height: 48.95pt">  <p style="text-align:
center; text-indent: Ocm" class="a" align="center"><span>¢¢0¢% ¢ 6006 ¢
Q00000009 090, 000000909/span></p> </td> </ir> <ir style="height: 48.95pt">
<td width="272" style="width: 203.85pt; border: solid windowtext 1.0pt; border-top: none;
padding: Ocm 5.4pt Ocm 5.4pt; height: 48.95pt">  <p style="text-align: left; text-indent: Ocm"
class="a" align="left"><span>¢ & (00 0® GGV ¢ 99000009 9000000000000
Q99 909</span></p> </td> <td width="193" style="width: 144.45pt; border-top: none;
border-left: none; border-bottom: solid windowtext 1.0pt; border-right: solid windowtext 1.0pt;
padding: Ocm 5.4pt Ocm 5.4pt; height: 48.95pt">  <p style="text-align: center; text-indent: 0cm"
class="a" align="center"><span>0 @9 06@® @VHVVHé/span></p> </td> <td width="193"
style="width: 144.5pt; border-top: none; border-left: none; border-bottom: solid windowtext
1.0pt; border-right: solid windowtext 1.0pt; padding: Ocm 5.4pt Ocm 5.4pt; height: 48.95pt">  <p
style="text-align: center; text-indent: Ocm" class="a" align="center"><span>¢ ¢¢¢9600609
Q900 900099 V0900090000009 /span></p> </td> </tr> <tr style="height: 70.25pt">
<td width="272" style="width: 203.85pt; border: solid windowtext 1.0pt; border-top: none;
padding: Ocm 5.4pt Ocm 5.4pt; height: 70.25pt">  <p style="text-align: left; text-indent: Ocm"
class="a" align="left"><span>{ ¢ ¢ ¢ 00000 VGPVVPP0P 900 900000000069
(00009 90O</span></p> </td> <td width="193" style="width: 144.45pt; border-top: none;
border-left: none; border-bottom: solid windowtext 1.0pt; border-right: solid windowtext 1.0pt;
padding: Ocm 5.4pt Ocm 5.4pt; height: 70.25pt">  <p style="text-align: center; text-indent: Ocm"
class="a" align="center"><span>0 00009 VVGVPY 9VY V0V </span></p> <p
style="text-align: center; text-indent: Ocm" class="a"
align="center"><span>@e-@ e </span></p> <p style="text-align: center; text-indent: Ocm"
class="a" align="center"><span>0¢9® VVQVH €09Y/span></p> </td> <td width="193"
style="width: 144.5pt; border-top: none; border-left: none; border-bottom: solid windowtext
1.0pt; border-right: solid windowtext 1.0pt; padding: Ocm 5.4pt Ocm 5.4pt; height: 70.25pt">  <p
style="text-align: center; text-indent: Ocm" class="a" align="center"><span>¢ 9096069 ¢
Q900 99000909, V00000 9 90009009 </span></p> <p style="text-align: center;
text-indent: Ocm" class="a" align="center"><span>@ ¢ 900 0069, 00, 009
@ 9-99</span></p> </Md> </r> <ftable> <br/> - <br />0060060006
900000 06000 N 11.1/7-12.2/6526-¢ @ 21.04.2011 © @ N 11.1/7-12.2/6532-¢ &
21.04.2011 @ <br /> <br/>00006000609 €00br/> <br/>0060br/> <br/> -
Q000 99009 9900 9090009, 9000090 9 900009 0000 0
Q000090000000 9(0000) 9000 (000006N 432 9 20.04.2011 @);<br /> - 0009
Q0000900090009 9000900 9009, 000000 9000 9000000000 60N 1371 @
23.12.2009 @, (0999 29.12.2000 ¢) 000000 9000000 900000000 900000000
Q000000 (00000N 436 € 20.04.2011 @);<br /> - 000009 & 9000000000069
Q00009009 9 9000000000900 9 900000 909 (00000N 440 ¢ 13.04.2011
@),<br/> <br/>@e<br/> <br/> -00000 00000009 060000000 600060 ¢
Q00009000909 90009000000 9 90000900'000000000000000 90090 900000,
Q000090009 9 900000000000 (000N 167 © 29.03.2011 @);<br/> -
Q0000900090000900 90000000 000'000000| 060002011 @
Q00009000000 0000000 (009), 9000000 00900 9009000 900090 000 000
(000000 0000600 N 259 ¢ 21.05.2009 @), 90000000000 000000000(00 N
11321/7/15-0317 € 21.04.2011 @);<br /> - 00009 & 000V 090V 90000 ¢ 9000000
Q0000900090000 9000000090 000000900 900000000 9900 90000000 0000 9
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Q00009 000000006(09 N 8426/7/10-1017/1153 @ 25.03.2011 @);<br /> - 600609
Q) 9000000000900 900000 9009000 9000000000000000 9009,
Q00009009 9 900000 9000000 9000000600 (00 N 10663/7/21-0218 @ 14.04.2011
@), <br/> -0000 006 96601.01.2011 & 60 0000000000 & V00009 00000069
Q0000 900 9009(N 265/95-¢ € 06.07.1995 @) 009 0000009 0000000069
90000 00600601.01.2011 @ (o N 10567/7/23-7017/463 € 13.04.2011 @);<br /> -
Q000909 0009000000909 90000000009(000090) 90000000 (00 N
7402/7/16-1517-15);<br /> - 0000006006 06000
90000000000000000000000 (00N 111/4/16-1510 @ € 18.03.2011 @); <br /> -
Q0009 9000000, 00 90 90000090 V00000 (000 9 000000090, 00000000
900000009), 01 002011 00 00000009 0090000000000 000 00 0009
Q009009 9090009009009 0 9009090 90009 90009 V00000600 (00 N 6766/7/21-0217
€ 11.03.2011 @);<br /> <br />0 00é @06br/> <br/> -00000000000600060000
Q009009 9009009 909 00 9090, 00000 6090."0 ¢ 186.3 V0006000 ¢
Q0000900000009 9 9000 006000(00 N 1248/10/31-608 € 10.02.2011 @);<br /> -
Q0009 9000090000000 9000000000 900000000
0000000000 000000000 90 900000000600 906069 (CVR) (0o N
2903/10/31-606 @ 22.03.2011 @);<br /> - 000000000V 900VPVPVP 900000000
G009 9090900'00000090" V0090000000000 900090 9 90 990 90000 90 90600 90
9009 (00 N 662/7/31-606 € 09.03.2011 @);<br /> <br/>00000000060<br/> <br/>
- 0009090009000 90000900 909000090009000 90009 90090 00000(06 N
1270/10/15-113 @ 24.03.2011 ®);<br /> <br />@@br/> <br/> -00Q 00069 6069
GO0 909000 9009, V9009009 9 V909090 90090009000 9 900000000000000 9
Q00900900909 9000000000000 0000090 00 0006(990 N 7154/03-20 @ 08.04.2011
@)<br/> <br/>00600000006<br/> <br/> -0000000000 060006009
Q0000000000000 00000(006N 524 € 26.11.2010 @);<br /> <br/>@@<br/> <br
/> -0000000000900 @ 900090000000000000 0000(000N157 @
08.04.2011 @); <br /> - 00000Q 900909000V 9000 @ V0000000000000 0000
9000(000 N 156 € 08.04.2011 @); <br /> <br/>@e<br/> <br/> -
Q000090009000 0900 900000900 90000000090 9000000000 900000090
90000 (00000N 358 @ 17.03.2011 @); <br /> <br/>0000660br/> <br/> -
Q0009 9000000090 90090 "90000090 00909 90000000 900" 0000000090
Q000909009 90090900 0000000008716 (000 990 10%) @ 0000060006090870590
90 90 (009 9 5%) (@& N 11.1/2-15.4/6491-¢ @ 20.04.2011 @);<br/> - 0000606
Q0009 9009 9000009000 900000 9000000000000000 90009
Q00000009 9000000 9000 0000 (006N 239 ¢ 23.03.2011 @);<br/> - 009
000090009000 00009 0000009 90000000009 90090, 0000 00000000
Q0090 9 9000900 90000 900000090 9009, 900000000 000000 900 90000, 9
Q0009 900 90009000 90000000 006 (000N 229  23.03.2011 @);<br/> -
Q00009000000 00009 90009 90000009000 990 9 90000090 V000000 9000 9
G000 9900 9090 "9000- 000000" (006N 330 ¢ 22.04.2011 @);<br /> - 00609
Q0009 9000000000, 990009000 9 900000 00000090 00000000
Q00000000000 (000N 208 ¢ 08.04.2011 @).<br />@<hr /><p> </p><p>0 0 0@ 606009
Q009 9000090 "[00. 00 90000, 9000 90090009 900000 9000 0000, 090
QP90 9</p><p>0 0090 V00D 9009-90 9909 900999 9900009 9000000000000
0000090009 "[j000</p> <p> </p>

8/8



